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Analyses of Transient Plant Response under Emergency Situations (2)

Kazuya Koyama*, Masahiko Hishida**

Abstract

In order to support development of the dynamic reliability analysis program DYANA,
analyses were made on the event sequences anticipated under emergency situations using
the plant dynamics simulation computer code Super-COPD.

In this work 9 sequences were analyzed and integrated into an input file for preparing
the functions for DYANA using the analytical model and input data which developed for
Super-COPD in the previous work. These sequences could not analyze in the previous
work, which were categorized into the PLOHS (Protected Loss of Heat Sink) event.

Work performed by Advanced Reactor Technology, Co. Litd., under a contract with Japan
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RSTART= 0.0,
OUTTIM(1) = 0.0,10.0,50.0,100.0,600.0,

OUTDEL(l) =0.1,1.0,5.0,20., 60,
RSTTIM(I) =0.,500.0,900.0,
RSTDEL(1) =3*1.0e20,

&END

&NAMAA2
npmpn =2,
nhonpmp(l) =38, pm. pn (6, 3}
nbnmam(l) =6%6, <« {6.6)

ihnmax({l) =63, =T ¥ Z-F-My7
hngain(l) =6*1.0,

ihnat(l) =6*2,

xpmpn(l,1) = 0.0,10.0,100.0,

xpmpn(l,2) = 0.0,10.0,100.0,

ypmpn(1,1) = 3*1.0,

ypmpn(1,2) = 3*1.0,

NTEMP = 8,
NTMP(l) = 457,542,642,742,597,697,797,331,
ITMAX(1) =4,3.3,3,3.3,33,

TGAINGI)  =8%1,

ITST() =8%2,

XTEMP(1,1) = 0.0.1,0.2,100000.0,

YTEMP(1,1) =1,1.,1,1,

XTEMP(1,2) = 0.0,46800.0,100800.0,

YTEMP(L,2) =2%324.5,100.0,

XTEMP(1,3) = 0.0,46800.0,100800.0,

YTEMP(1,3) =2%324.5,100.0,

XTEMP(1,4) = 0.0,46800.0,100800.0,

YTEMP(1,4) =2*324.5,100.0,

XTEMP(1,5) =0.,18000.,18000.1, 1 A%-7 (GHr)#&
YTEMP(1,5) =2%0.0,1.0, ACS HEvask
XTEMP(1,6) =0.,0.0.1, o
YTEMP(1,6) =2+%0.0,1.0, B -7 Sagsk
XTEMP(1,7) =0.0.0.1, } L
YTEMP(1,7) =2*1.0,1.0, Ch7 # ik
XTEMP(1,8) = 0.,18000.,18000.1,

YTEMP(1,8) = 2%0.0,0.0,

&NAMAA2
NFLWN = 2, <« FIWN (1.5) SH #&HKE
FNNET(1) = 2*5, (2.5) EV BhinE
NENPASWH) = 1, 2
IFNMAX(I) = 6,19,
IFLWN(L,D) = 0., 1.13, 2,02, 4901, 6.04,
YFLWN{,1) = 100.68, 100.68, 41.47, 153, 0.76,
XFLWN{,2) = 0.0, 013, 202, 401, . 6.04,
© 832, 1006, 120, 1426, 1643,
18.23, 20,08, 22,28, 2408, 2633,
_ 52,43, 60.08, 64.13, _
YFLWN(1,2) = 100.68, 100.69, 8375, 50.95, 51.69,
52.03, 51.04, 49:87, 48.27, 38533,
‘2953, 22.16, 18.06, 12.32," 11.00,
1000, 913, 8.67,
FNGAIN(1) = 2¥1.0528,
IFNST(1) = g
&END
&NAMHXZ
alhx(3)=0.0, a2hx(3)=0.0, +~ Ci-7 IHX ¥#
&END
&NAMFN1
NNFN =4, IMDLFN(1)=2%0,2*0, INETFN(1)=1,2,3,4,
IMDLFN() =1,1,1,1,

DTIMFN(1,1) = 0.,150.,200.,400.,
DDELFN(1,1) = 0.05,0.1,0.1,0.1,
DDELFN(1,1) = 5*0.05,
DTIMFN(1,2) = 0.,150.,200.,400.,
DDELFN(1,2) = 0.05,0.1,0.1,0.1,
DTIMFN(1,3) = 0.,150.,200.,400.,
DDELFN(1,3) =0.05,0.1,0.1,0.1,
DTIMFN(1,4) = 0.,150.,200.,400.,
DDELFN(1,4) =0.05,0.1,0.1,0.1,
DDELFN(1.4) = 5*0.{%2,

C -7 GeBhatBEs{hiyva

11

N
~ TEMP
457 FEFHMNT
542
642 } AC HDEESTE
742
797 Ch-7° ACS &1k



£2. 2—-2@218) BHr—AEOAHNT—F CFUFO-2)

gy -24 PFUF@-
ANZ 7 ANH O2%-1774h 1 2RIE L THRIFET)
pls22.05d

pls22.05d

VI 7740

2

V35 - P I il EAERR Uiz 17 {4

VA5-b 7710104

Y#-+7 7). 4 04

UAF-+7744 1 | Mem100d2. 07d

pl13sib.1.10d

pl13s1b. 1. 404

pl13s1b. 05d
WAg-b774h 2
YA5-+7740 8
AN T 7 A VEEER
pls22.05d SNAMAA2 :
A AL 150, IPINIT= 1 NFLWN = 2, <« FLWN (L5 SH RRUik
DEIT =001 TMAX =144000.1 FNNET() = 25, (2.5) EV kiR
S5 " NFNPAS(L) = 1, 2,
_ - IFNMAX(l) = 5,19,

* WAL BRALT BB oID- * TEIRNLD = lo0es, To0es, siay imh o
RSTART = 0.0’ ; e : : pais | W00, ik ] .-_ 'y - £y
OUTTIM(1) = 0.0,10.0,50.0,100.0,600.0, KFLWNGLS) = 05 QI3 0% a0l 604
OUTDEL(I) = 0.1,1.0,5.0,20., 60-, 1.8-2’3 20.03’ 22’2’8 24 08’ 26' 33’

" RSTTIM(1} = 0.,500.0,900.0, 52 43' 6.0708,: 6‘4::13" s e
&END RSTDELQ1) =3*1.0e20, YFLWN(L,2) = 100,68, 100,69, 83.75, 50.95, 51.69,
o 52.03, 51.04, 49.87, 4827, 35.33,

AMAA2 29.53, 22.16, 18.06, 1232, 11.00,
_ 1000, 913, 867,
npmpn =2,
nhnpmp(l) 3.6, pm. pn {6.3) FNGAIN( = 9% 0528
mbonum() =6%, (6.6) Rabra A
ihnmax(l) =6*3, e BT 8 Z-E-F MY -
Ingain(1) =6*1.0, &END
ihnst(t) =6*2,
xpmpn(1,1) = 0.0,10:0,100.0, &NAMHX2
xpmpn(l,2) = 0.0,10.0,100:0, alhx(3)=00, aZhx(3)=0.0, — CL-7°" THX Bi#k
ypmpn(l,1) = 3*1.0, &END -
ypmpn(1,2) = 3*1.0,
&NAMFN1
NTEMP = 8§, NNFN =4, IMDLFN(1)=2%0,2*0, INETFN(1)=1,2,3,4,
NTMP(l) = 457,542,642,742,5697,697,797,331, IMDLFN() =L111,
ITTMAX(1) = 4,3,3,3,3,3,3,3, DTIMFN(1,1) = 0.,150.,200.,400.,
TGAINGT) = 8L, DDELFN(1,1) = 0.05,0.1,0.1,0.1,
ITST(1) = _8 2, DDELFN(1,1) = 5%0.05,
XTEMP(L,1)  =6.,0.1,0.2,100000.0, DTIMFN(1,2) = 0.,150.,200.,400.,
YTEMP(1,1) =1,1.1,1, DDELFN(1,2) = 0.05,0.1,0.1,0.1,
XTEMP(1,2) =0.0,46800.0,100800.0, DTIMFN(L,2) = 0.,150.,200.,400.,
YTEMP(1,2) =2*324.5,100.0, DDELFN(1,3) = 0.05,0.1,0.1,0.1,
XTEMP(1,3) =0.0,46800.0,100800.0, DTIMFN(1,4) = 0.,150.,200.,400.,
YTEMP(1,3) = 2*324.5,100.0, DDELFN(1,4) = 0.05,0.1,0.1,0.1,
XTEMP(1,4) =0.0,46800.0,100800.0, DDELFN(1,4) = 5%0.02
YTEMP(1,4) =2*324.5,100.0, ’ -
XTEMP(L5) =0.,36000.,36000.1, AN-7 (LOHD B N C-7 mEEFRI (htva b
YTEMP(L,5) =2%0.0,1.0, ACS BeEmas \ :
XTEMP(L6) = 0,0,0.1, B -7 M o
YTEMP(1,8) =2%0.0,1.0, o e
XTEMP(1,7} =0.,0,0.1, } Ch-T AL S0
YTEMP (1,7} =2*1.0,1.0, an
XTEMP(L.8) =0.,18000.,18000.1, 642 } AC HIPIREREE
YTEMP(1,8) = 2*0.0,0.0, 742
798 CI-7" ACS &1k
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£2. 2—-2(38) BNTr—ABOANT—F (2 FUFO~3)

BHEr-24 FUFO—
ANT 7% ORF-b7740 1 2R L TRITES)
pls23.05d

pls23.054

RS- Frrdd

3

UZ5- b7 BPER L =771 044

R3-b7 7401 0d

Y25-r7 71404

V25-t774k 1 | Mem100d2, 074

pl13sthb. 05d

pl13sib.1.10d

pl13s1b. 1. 40d

NA5-t7740 2

WAi&-1274k 3
AT 71 NEEERH
pls23.05d SNAMAA2 :
&NAMAAL NFLWN = 2, <« FLWN (L.5) SH %S
ggg‘“‘fﬁ% 'I%TXT =L 000 FNNETQ) = 2°5, (2.5) EV BAHKE
I TS NFNPAS(1) = 1, 2
NUMREC = _ IFNMAX(l) = 519,
* '37-9‘}77{)51%%]%;,[/'( %)%Rg?gég-if -b * mﬁg’g . f ‘]).60 68, 11&8}’68 421042,} 4i0;é 660';%
RSTART= 0.0, YFLWN(1, = 10065 10063, 4147, 153, 0.7,
OUTTIM(1) = 0.0,10.0,50.0,100.0,500.0, XFLWN(1.2) g";’z ‘10126 21;’% 4{2}2'6 Gl'g_"zs
OUTDEL(1) =0.1,10,5.0,20., 60., 1625 2005 omh 9400 Srse
RSTTIM(1) = 0.,500.0,900.0, 52,45 6008 Gils s 26.33,
g TPELMD)  =8%1.0e20, YFLWN(,2) = 100.68, 100.69, 83.75, 50.95, 5169,
SNAMA 5203, 5L04, 4987, 48.27, 3533,
AMAA2 20.58, 2216, 18.06, 12.32, 11.00,
1000, 9.13, 867, '

npmpn =2,

nhnpmp(l) =3,6, pm. pn (6, 3) FNGAIN(G = o*1.0528

ikinmax(l) =6*3, e T F -85 M7

bkngain(l} =6*1.0, &END

ihnst(l) =6%2,

_xp'mpn(l,'l) =90.0,10.0,100.0, SNAMHXS

xpmpn(l,2) = 0.0,10.0,100.0, alhx(3)=00, .aZhx(3)=0.0, «— Cl-7 IHX Bi#t

ypmpn(l,1) = 3¥1.0, &END i

ypmpn(l,2) = 3*1.0,

_ &NAMFN1

NTEMP = 8 NNFN =4, IMDLFN(1)=2%0,2*0, INETFN(1)=1,2,34,

NTMP(I) = 457,542,642,‘742,597,697,797,331, MIFN(D = 1’1’1,1,

ITMAX(1)  =4,333,338353, DTIMFN(1,1) = 0.,150.,200.,400.,

TGAING@) =87, DDELFN(1,1) = 0.05,0.1,0.1,0.1,

ITST(1) =82, DDELFN(1,1) = 5%0.05,

XTEMP(L,1) =0.,0.1,0.2,100000.0, DTIMFN(L,2) = 0.,150.,200.,400.,

YTEMP(LL) =1,1,L,1, DDELFN(L2) = 0.05,0.1,0.1,0.1,

XTM(I,2) = 0.0,46800.0,100800.0, DT]:M:FN(].,?)) = 0_’150_,200_,400.’

YIEMP(1,2) = 2*324.5,100.0, DDELFN(1,3) = 0.05,0.1,0.1,0.1,

XTEMP(,3) = 0.0,46800.0,100800.0, DTIMFN(L 4) = 0..150..900. 400,

YTEMP(1,3) = 2*324.5,100.0, DDELFN(.,4) = 0.05,0.1,0.1,0.1,

XTEMP(1,4) = 0.0,46800.0,100800.0, DDELFNQ,4) = 5%0.02,

YTEMP(1,4) =2*324.5,100.0, 1

-7 BRENEES M oYa A

XTEMP(,5) =0.,54000,54000.1, Y AK-7 (i5Hr) % Ch7 TAFRI hir7a A

YTEMP(1,5) =2*0.0,1.0, ACS tstpss: :

XTEMP(LE) =0.0.0.1, b1y sk | NTEMD

YTEMP(1,6) = 2%0.0,1.0, i

XTEMP(L7) =0.,0.0.1, .

YTEMPO7) =2+1.0,1.0, Ch-7 Bk 542 _

XTEMP(1,8) =0.,18000.,18000.1, 642 - AC HMNBEREE

YTEMP(1,8) = 2*0.0,0.0, 742

799 Ch-7° ACS BL
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£2. 2—3(1/3) BHRIr—AEOANT—F (T FUF@—1)

By -1 FUFE—1
AN 77 A 0VE (RF-1I71h 1 R L TRHTRT)
pls31.05d
pls31.05d
RS- bT240
YAG- b7V EERE L =77 | VAI-b 7 71001 04d Y24-17 7114 0d
V25-+774k 1 | Mem100d2. 07d pl13s1b.1.10d pl13s1b.1.40d
pil3sib. 05d
UZ5-brefl 2
UZ7-121740 3
AN 771 NWEERR
pls31.05d &NAMAA2
&NAMAN% TAL— 150 IPINIT=1 NFLWN = 2 « FLWN (1,5) SH B&HER
=150, =1, _ FNNET! = 3 (2.5) EV ki
DELT =001, TMAX =72000.1, NFNPA&)D _ 2;5 2 ‘
_ _ IFNMAX(l) = 5,19,
1oy UMEEC = 25, IORSTA=1, XFIWNQ@,1) = 0., 113, 202 401, 604,
* PP 1 ERIBLTORMNS DN} * YFIWNQ1) = 10068, 10068, 4147, 153, 0.76
RSTART = 0.0, XFIWN(L®) = 00, 013, 202, 40L 604,
OUTTIM(1) = 0.0,10.0,50.0,100.0,600.0, WNL2) - 2;‘{3, ‘}oi’s, 12.0, 1426, 16.43,
OUTDEL(].) =0.1,1.0,5.0,20-, 60., 18.23, 20.03, 22.98, 2408, 26.33,
RSTTIM(1) = 0.,500.0,900.0, 5243 60.08. 6413,
RSTDEL(1) =3*1.0e20, YFLWN(1,2) = 10068, 100.69, 83.75, 50.95, 51.69,
SR 52.03, 5104, 49.87, 48.27, 35.33,
&N 2053, 2216, 1806, 12.32, 11.00,
10.00, 913, 867,
npmpn =2,
nhnpmp(l) =36, pm.pn {6.3) FNGAIN() = 2*1.0528
nhnpam(l) =6%6, <+ (6.6} IFNST(1) = g9
ihnmax(l) =63, T & =-E-3H)y7T
hngain(l) =6*L0, &END
ihmst(l) =6*2, TEMP .
xpmpn(L,1) = 0.0,10.0,100.0, gz; FHHy7 &NAMHX2 : :
tpmpn(1,2) = 0.0,10.0,100.0, 1hx(3)=00, a2hx(3)=0.0, «— Ck-7 IHX KF#
ypmpn(l,2) = 3*¥1.0, 742
797 CW7 ACS#EI S&NAMFN1
NTEMP = 8 NNFN =4, IMDLFN(1)=2*0,2*0, INETFN(1)=1,2,3.4,
NT_MP_(I) = 457,542,642,742,597,697,797,331, IMDLFN(}) =1,1,11,
ITMAX(1)  =433,33,333, DTIMFN(1, 1) = 0.,150.,200.,400.,
TGAIN®) — =81, DDELFN(1,1) = 0.05,0.1,0.1,0.1,
TEST(1) =8*2, DDELFN(1,1) = 5%0.05,
XTEMFP(1,1) =10.,0.1,0.2,100000.0, DTIMFN(1,2) = 0.,150.,200.,400.,
YTEMP(L,I) =1,1,L,1, DDELFN(1,2) = 0.05,0.1,0.1,0.1,
XTEMP(L2) =0.0,46800.0,100800.0, DTIMFN(1,3) = 0.,150.,200.,400,,
YTEMP(1,2) =2*324.5,100.0, DDELFN(1,3) = 0.05,0.1,0.1,0.1,
XTEMP(1,3) = 0.0,46800.0,100800.0, DTIMFN(1,4) = 0.,150.,200.,400.,
YTEMP(1,8) =2%524.5,100.0, DDELFN(1,4) = 0.05,0.1,0.1,0.1, -
XTEMP(1,4)  =0.0,46800.0,100800.0, DDELFN(1,4) =5%0.02, <+ CM-7 EETEbiovz /b
YTEMP(,4) = 2*324.5,100.0, &END
&NAMAC2
Xmggg Z3.0.01 AJ-7 (OHr) 8 A1ACE@) = 0.001,
XY'I'EMPIE(I,G) 0001 ACS HfETEd: A2AC(2) = 0.001, B -7 ACS il
, -0.,0.1, . A5AC(2) = 0.001,
YTEMP(1,6) =2%0.0,1.0, B -7 $EAETE & ABAC(2) = 0,001
XTEMP(:,7) =0.,0.,0.1, . &END '
YTEMP(1,7) =2*1.0,1.0, } Ch-7 #ik
XTEMP(1,8) = 0.,18000.,18000.1,
YTEMP(1.8) = 2%0.0.0.0,
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&2. 2—-3@2B) BRr—XBOAHT—F (FIF-2)

BEr-2E FUFE—2
ANT 71% UI5-47740 1 ZFIE LTRSS
pls32.05d

pls32.05d

RS-0

YR3- W77 hEERR L 27710

NR5-b 7 710k 1 04

UZ5-+7 7.4 04

Y25-b774% 1 | Mem100d2. 07d

pl13s1b.1.10d

pl13s1b. 1. 404

pt13s1b. 05d
078-b7740 2
U73-1774k 8
AHT 7 NEEEGH
pls32.05d :
&NAMAA2 :

&NAMAAL NFLWN = 8  + FLWN (1.5) SH BESHKE&
MINTAL =150, IPINIT=1, FNNETQ) = 2*5, (2.5) EV $&AHE
DELT =001, TMAX =108000.1, NFNPAS(1) = 1, 2

_ IFNMAX() = G519,
NUMREC=25  IORSTA=1, XFIWN@,1) = 0, 1.13, 202, 401, 6.04,
* V23-177 b 1 ZFELTOBDHSOURS-F * YFLWN(1,1) = 100.68, 100:68, 4147, 153, 0.76,
RSTART= 0.0, XFIWN(Q,2) = 0.0, 0.13, 202, 401, 6.04,
OUTTIM(1) = 0.0,10.0,50.0,100.0,600.0, 812, 1006, 120, 1426, 1643,
OUTDEL(1) =0.1,1.0,5.0,20., 0., 18.23, 20:03, 2228, 2408, 2633,
RSTTIM(1) = 0.,500.0,900.0, . 52.43, 6008, 6413, 3
RSTDEL(L} =3*1.0e20, YFLWN(L,2) = 100.68, 100.69, 83.75, 50.95, 51.69,
&END 52.03, 5104, 49.87, 4827,  35.33,
&NAMAA2 2958, 2216, 1806, 12.32, 1100,
10.00, 9.13, 867,
npmpn =32, !
nhnpmp(1) =36, pm.pn (6. 3) FNGAIN() = . 2*1.0528,
nphonum(l) =6%6, <+ 6.8 IFNST() = 2%,
jhnmax(l) =6*3, e -7 & Z-E-FH)yT
hnga.ingl) =0, TEMP szND .
ihnst(l) =62, 457 Vo7 AMHX : . .
tpmpa(l,1)=0.0,10.0,100.0, | .., FhHly albx@)=0.0, a2bx(8)=00, <« CH-7 IHX Wigh
Tmn( D= 90001000, | e - AC HOERBIEE D N
o k1 () 742 - LN =202+ -
ypmpn{i,2) = 3*1.0, / 797 CI-7 ACS B IL\MJNNFLFN N(lti' =11VD31 o (1) =2%0,2*0, INETFN(1)= 1,2,3.4,
NTEMP = § DTIMFN(1,1) = 0.,150.,200.,400.,
NTMP(1) = 457,542,642,742,597,697,797,331, DDEIIFN(I,l)=0;05,0.1,0.1,0.1,
TTMAX(1) =4,3,3,3.3,3,3,3, DDELFN(1,1) = 5*0.05,
TEAIN(1) =8 DTIMFN(1,2) = 0.,150.,200.,400.,
TTST{L) =82, DDELFN(1,2) = 0.05,0.1,0.1,0.3,
XTEMP(,1) =0.,90.1,0.2,100000.0, DTIMFN(1,3) = 0.,150.,200.,400.,
YTEMP(1,1) =1,1.,1,1, DDELFN(1,3) = 0.05,0.1,0.1,0.1,
XTEMP(1,2) = 0.0,46800.0,100800.0, DTIMFN(1,4) = 0.,150.,200.,400.,
YTEMP(1,2) =2*324.5,100.0, DDELFN(1,4) = 0.05,0.1,0.1,0.1,
XTEMP(1,3) = 0.0,46500.0,100800.0, DDELFN(1,4) = 5%0.02, — C}-7 HEEHE Maa A
YIEMP(1,3) =2*324.5,100.0, TMAXFN(1) = 1.0E20,1.0E20,10000.0,1.0520
XTEMP(1,4) = 0.0,46800.0,100800.0, &END :
YIEMP(1,4) =2*324.5,100.0, &NAMAGCS
) ) A1AC(®) = 0.001, Bi-7° 100005 TEHETBHD
XTEMP(1,5) =0.,36000.,36000.1, A7 (10Hr) AZAC®) = 0.001,
YTEMP(1,5) =2%0.0,1.0, ACS BaEmesk A5AC(2) = 0.001, By-7" ACS bk
XTEMP(1,6) =0.,0,0.1, o ABAC(®) = 0.001,
YTEMP(1,6) = 2%0.0,1.0, B -7 knEses &END
XTEMP(1,7) =0.0.0.1, } C -7 ke
YTIEMP(L7) =2*1.0,1.0, s
XTEMP(L,8) =0.,18000..18000.1, i
YTEMP(1,8) = 2*0.0,0.0,

15




#2. 2—3(33) BRIr—IXBOANT—F (LFUFE-3)

FHEY-24 S UA@-
ANZ A NE (0A5-V174h 1 2F08 U TRITED
pls33.05d

pls33.05d

TERVAS- 27710

3

V8- b Ir b EtERL L 7277104

W25-t7 74.1 0d

VR3-+7 7). 4 0d

Y25-17740 1 | Mem100d2. 07d

pl13s1b,05d

pil13sib.1.10d

pl1dstb. 1.40d

Y25 -+7740 2

Y35-t7740 3

ANT7 714 NERER
pls33.05d

&NAMAA]
NINTAL =150, IPINIT=1,
DELT =0.01, TMAX =144000.1,

NUMREC=25  TORSTA=1,

* F-F7740 1 EFIAL T oS OIS+ *
RSTART= 0.0,
OUTTIM(1) = 0.0,10.0,50.0,100.0,600.0,

OUTDEL(1) =0.1,1.0,5.0,20., 60.,
RSTTIM(1) = 0.,500.0,900.0,
RSTDEL(1) =3*1.0e20,
&END
&NAMAAZ
npmpn =2,
nhnpmp(l) =36, pm, pn {6, 3)
nhnnam(l) =6%6, <+ (6.6)
ihnmax(l) =63, e V-7 & Z-E-5y7’
hngain(l) = 6*L0, TEMP
i = g*
ihnst(l) = =62, 457 EFNT
zpmpn(i,1) = 0.0,10.0,100.0, 542
xpmpn(l,2) = 0.6,10.0,100.0, } .
ypmpn(1.1) = 31,0, g:g AC HDiBEeREE
=%
ypmpn(1,2) = 3*1.0, / 797 CW-7 ACS ik
NTEMP = 8 -
NTMP(l) = 457,542,642,742,557,697,797,331,
FIMAR(l)  =4,3,3,3,3,3,3,3,
TGAIN()  =8%1,
ITST(1) =82,
XTEMP(L,1) =0.,0.1,0.2,100000.0,
YTEMP(1,1) =1.,1,1,1,
XTEMP(1,2) = 0.0,46800.0,100800.0,
YTEMP(1,2) = 2*324.5,100.0,
XTEMP(,3) =0.0,46800.0,100800.0,
YTEMP(1,3) = 2*324.5,100.0,
XTEMP(1,4) = 0.0,46800.0,160800.0,
YTEMP(1,4) = 2*324.5,100.0,
XTEMP(L,5) = 0.,72000.,72000.1, AR-7' (Q0HN) %
iTEMP(l,F') =2*0.9,1.0, ACS HEfETR S
TEMP(1,6) =0.0.,0.1, A
YTEMP(L,6) = 2*0.0,1.0, BA-7" BhiERES
XTEMPQ1,7) =0.0.0.1, .
YTEMP(L.7) =2*1.0,1.0, CI-7 AR
XTEMP(1,8) = 0.,18000.,18000.1,
YTEMP(1,8) =2%0.0,0.0,

&NAMAA2 _
NFLWN = 8 <« FLWN (1,5 SH #&#HE
FNNET(1) = 2*5, (2,5) EV #ikHiE
NFNPAS(1) = 1, 2,
IFNMAX()) = 519,
XFLWN(1,1)) = O, 1.13, 202, 401, 6.04,
YFLWN(,1) = 100.68, -100:68, 4147, 153, 0.76,
XFIWN@A,2) = 00, 0613, 202, 401, 6.04,
8.12, 10,06, 120, 1426, 1643,
18.23, 2003, 22.28, 24.08, 26.33,
52.43, 60,08, 64.13,
YFLWN@1,2) = 10068, 100.69, "88.75, 50.95, 51.69,
52.08, 51.04, 4987, 48.27, 3533,
2953, 22.16, 18.06, 12.32, 1100,
10.00, 9.13, 867,
FNGAIN(I) = 2*1.0528,
IFNST(1) = 2%,
&END
- &NAMHX2
21hx(3)=0.0, a2hx(3)=0.0, «~ C}-7 IHX ¥
&END
&NAMFN1
NNFN =4, IMDLFN(1)=2*0,2*0, JNETFN(1)=1,23,4,
IMDLFN(1) =1,1L1,

DTIMFN(L1) = 0.,150.,200.,400.,
DDELFN(1,1) = 0.05,0.1,0.1,0.1,
DDELFN(L,1) = 5*0.05,
DTIMFN(1,2) = 0.,150.,200.,400.,
DDELFN(1,2) = 0.05,0.1,0.1,0.1,
DTIMFN(1,8) = 0.,150.,200.,400.,
DDELFN(1,3) = 0.05,0.1,0.1,0.1,
DTIMFN(1,4) = 0.,150.,200.,400.,
DDELFN(1,4) = 0.05,0.1,0.1,0.1,
DDELFN(1,4) = 5%0.02, «— C k-7 FiBigtE{aisya /b
TMAXFN(L) = 1.0E20,1.0E20,10000.0,1,0E20
&END
&NAMAC2
A1AC(2) = 0.001,
AZAC(2) = 0.001,
ASAC(2) = 0.001,
ABAC(®) = 0.001,
&END
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